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0.058 61 - km
1-1
/ / - km 1%

0.058 61 100
0.117 2 200
0.011 72 20
0.064 47 110
0.070 33 120
0.076 19 130

30%

30%
0.102 57 175
0.114 29 195
0.123 08 210
0.134 80 230
0.014 65 25

(D) REENEEXER

20 km
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100 km

400 km
2
1-2
1-2
/km /km /km /km
1 200 10 19 1601 2200 60 10
201 400 20 10 2201 2900 70 10
401 700 30 10 2901 3700 80 10
701 100 40 10 3701 4600 90 10
1101 1600 50 10 4601 100
(Z) BImIBIRE
201 km
1-3
1-3
/km / / - km /
1 200 0 0.058 61 11.722
201 500 10 0.052 749 15.824 7 27.546 7
501 1000 20 0.046 888 23.444 50.990 7
1001 1500 30 0.041 027 20.513 5 71.504 2
1501 2500 40 0.035 166 35.166 106.670 2
2501 50 0.029 305
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E=C,L, +C,L x (1= D,%)+CyLy x(1— D, %) +---+ C,L, x (1— D, %)

=Cy[Ly+L x(A-D))+---+L,x(1-D,)]



1-4
1-4
/km 1% /km 1%
/km /km /km /km
1 200 0 200 1001 1500 30 350 1220
201 500 10 270 470 1501 2500 40 600 1 820
501 1000 20 400 870 2 501 50
2001 1
F'=F+H+R-B,
F!
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0.5 5
H— 200 km
1
B,— 1-5
1-5
/km / /km /
1 460 0.5 3141 3970 3.0
461 980 1.0 3971 4800 3.5
981 1600 1.5 4801 5700 4.0
1601 2340 2.0 5701 6500 4.5
2341 3140 2.5 6501 7000 5.0
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1 100 km

Ly—L 1100-700
L 40

10

n=

Ly = Ly +(n£0.5)=700+(10-0.5)x 40 =1 080 km

E=CL,+CL +C,L,+---+C L,
=200x0.058 61+300x0.052 749 +500x0.046 88 +80x0.041 027
=54.272 86

E =C,L, +(1-10%)C,L, + (1-20%)C,L, +---+(1—-D,)C, L,
=0.058 61x[200+300x (1-10%) + 500 x (1 — 20%) + 80 x (1 — 30%)]
=54.272 86

B =Ex2%=54272 86x2%=1.0 854 572 ~1.1
F=E+B =5427286+1.1=55.372 86 ~55

F'=F+R+H-B,=55+1+1-1.5=555

E, =200%xE
Fy =2xF =2x55=110 Jt

F,

r
e

=F4+R-B,=110+1-1.5=109.5 J¢

Fyy = Ex20% =54.272 86x20% =10.854 572 = 117C

Fﬁ%ﬁ :2XF”LH§% :2X11:227—C

F = Ex120%+10 = 54.272 86x120% +10 =~ 75 ¢



F,, = Ex25% =54.272 86x25% ~147C
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FI = (14 x%) x FF*
Fy® =FJ" +H+R-B,
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s
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1-2 _
— 1100km
Fy® =558, Fii =118, FI7 =145¢, Fff =757
FT = (1450%) x Fyl * = 55x(1+50%) = 82.5 ~ 837
FU™ = FF% 4 H+ R—B, =83+1+1-15=83.57¢
FI = (1+50%) x FE = (14 50%) x 11 =17 7T
F;JT)%? =2><F§T§ =2x17=347C
T = (14 50%) x F.F = (1+50%) x 14 = 21 7C
ﬂ;ﬁﬂ :(1+50%)X(F§E»}< —10)+10 = (1+50%)x(75-10)+10=107.55¢
(—) iHEKE

2010 110

() EMitE

FIEM = 2+ B xa

cc %Ei\-/ffl\xa »

1-3 96.00 15%
96.00 96.00><0.15 96.00 14.40
1-4
62.00 91.00

96.00

14.00

110.00
20%



62.00 91.00 91.00><0.2 62.00 91.00 18.20
62.00 91.00 18.00 171.00
(—) HE&KE
2003 31
- 180%
+10%
(Z) EMHE
Fi = FEI x (1+180%) + R
Fit = Fgl™ x (1+180%)
Fiit = FEI < (1+180%) +10
= FEIP x (1+180%)
[ [ [SEe [ [FE
Fom~ Fupes Fyow~ Faa > Fa
LFA LA LFA LA
Fo "~ Fue ~ Fo > Fag
R——
10—
1-5 —
— 1 100 km
Fi =110x (1+180%) +1 =309
FE =11x(1+180%) = 30.8 ~ 315T
Fji =31x2 =627



Fiir) =106x(1+180%) +10 = 306.8 ~ 307 T
FIT =14x(1+180%) =39.2 ~ 397C

309+62+307+39=717 ¢

1. ITEKIE

1
110 km/h
0.336 6 0.280 5 10%
2 1997
50%

2. 200 ~250 km/h HEBHNEEMiTE

0.336 6<(1  10%)>
0.280 5<(1  10%)><
0.280 5<(1  10%)><1.8>
0.280 5><(1  10%)><3>
0.336 6<(1  10%)>1.6>
0.336 6<(1  10%)>1.8>
0.336 6<(1  10%)><3.2>
0.336 6<(1  10%)><3.6>
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1

2012102
75%
2
50%
/2
20093348
400 km 400 km
3
50%
2009 3474
1-6 —

— 1100 km
0.336 6<(1 10%)><1 100 407.286=407.50
0.280 5><(1 10%)><1 100 339.405=339.50
0.280 5><(1 10%)><1.8><1100 610.929=611.00
0.280 5><(1 10%)><3><1100 1018.215=1 018.00
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